1. Solve the inequality ¥- $ (2- ) &and check your solution. Graph the solution on a
number line.

[A] x=15
RETIMAR ARR ey S
[B] x>15
DTSSR Sana-anay 4
[C] x<15
O
-10 -5 0 5 10
[D] x<15
e
-10 -5 0 5 10

2. Solve the inequality - 2 (2+ )3&nd check your solution. Graph the solution on a
number line.

[A] x>35
DT AR a4
[B] x<35
i) o+
-10 -5 0 5 10
[C] x<35
ittt >
-10 -5 0 5 10
[D] x=35
-G



3. Solve the inequality>6+ 3 (8- )2and check your solution. Graph the solution on a
number line.

[A] x>-55
O
-10 -5 0 5 10
[B] x<-=55
-10 -5 0 5 10
[C] x=-55
e
-10 -5 0 5 10
[D] x<-55
-10 -5 0 5 10

4. Solve the inequality’s- 8 (8- )2nd check your solution. Graph the solution on a
number line.

[A] x<-15
‘-l-l-l-l-l-l-l-‘—|—|—|—|—|—|—|—|—|—|—|—>
-10 -5 0 5 10
[B] x=-15
D
-10 -5 0 5 10
[C] x>-15
<—|—|—|—|—|—|—|—|—(::::::::::::>
-10 -5 0 5 10
[D] x<-15
‘-l-l-l-l-l-l-l-o+|—|—|—|—|—|—|—|—|—|—>



5. Solve the inequality 4+ 2 (2+ )&nd check your solution. Graph the solution on a
number line.

[A] x>05
DA SNAN aa-aaay 4
[B] x<05
4‘::: pjpiji >
-10 -5 0 5 10
[C] x<05
S
-10 -5 0 5 10
[D] x=05
DTS SRAL Sana-aaay S

6. Solve the inequality+ $ (2+ )2and check your solution. Graph the solution on a
number line.

[A] x<-05
‘-l-l-l-l-l-l-l-l-.—|—|—|—|—|—|—|—|—|—|—>
-10 -5 0 5 10
[B] x>-05
G i ——————
-10 -5 0 5 10
[C] x<-05
‘I-I-I-I-I-I-I-I-I-O—H—l—l—H—l—l—l—l—}
-10 -5 0 5 10
[D] x=-05
G i)




7. Solve the inequality ¥+ 2 (- )2and check your solution. Graph the solution on a
number line.

[A] x<-25
e O
-10 -5 0 5 10
[B] x<-25
i+
-10 -5 0 5 10
[C] x=-25
D < S
-10 -5 0 5 10
[D] x>-25
D RO
-10 -5 0 5 10

8. Solve the inequality>s+ < (8- )2and check your solution. Graph the solution on a
number line.

[A] x>—35
D . e ——————
-10 -5 0 5 10
[B] x<-35
DT A R 4
[C] x>-35
4—|—|—|—|—|—|—(_10 _5::::0:::::5:::::1%
[D] x<—35
i+



9. Solve the inequalityxs- 4 (8- )&nd check your solution. Graph the solution on a

number line.
[A] x>-25
P I A g SRR e
-10 -5 0 5 10
[B] x<-25
‘I—I—I—I—I—I—I—‘ﬂ—H—H—H—I—l—H—I—}
-10 -5 0 5 10
[C] x=-25
@ injanjoejajs e
-10 -5 0 5 10
[D] x<-25
‘II-I-I-I-I-I-I-O—H—H—H—l—H—H—l—}
-10 -5 0 5 10

10. Solve the inequality>5- 5 (8- )2nd check your solution. Graph the solution on a

number line.
[A] x<-05
‘I-I-I-I-I-I-I-I-I-O—H—I—H—H—l—H—}
-10 -5 0 5 10
[B] x<-05
<-|-|-|-|-|-|-|-|-|-—|—|—|—|—|—|—|—|—|—|—>
-10 -5 0 5 10
[C] x>-05
<—|—|—|—|—|—|—|—|—|—c::::::::::>
-10 -5 0 5 10
[D] x=-05
@ imjajjijj
-10 -5 0 5 10



12.

13.

14.

15.

16.

17.

18.

19.

What inequality describes the graph?

-1C — 1C

o
o
(6]

What inequality describes the graph?

What inequality describes the graph?

-1C — 1C

o
o
(6]

What inequality describes the graph?

-1C — 1C

o
o
(6]

What inequality describes the graph?

-1C — 1C

o
o
(6]

What inequality describes the graph?




20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

number line.

What inequality describes the graph?
e e

-1C -5 0 1C
Solve the inequality>5- 5 (8- ) Z&nd check your solution. Graph the solution on a
number line.
Solve the inequality>d- = (2- ) &nd check your solution. Graph the solution on a
number line.

Solve the inequality# % (2- ) &nd check your solution. Graph the solution on a
number line.

Solve the inequality» < (2+ )&nd check your solution. Graph the solution on a
number line.

Solve the inequality>5- 2 (8- ) &nd check your solution. Graph the solution on a
number line.

Solve the inequality>5- 8 (8- )&nd check your solution. Graph the solution on a
number line.

Solve the inequality>5- 2 (8- ) &nd check your solution. Graph the solution on a
number line.

Solve the inequality»& 8 (2- ) &nd check your solution. Graph the solution on a
number line.

Solve the inequality>o+ 8 (8+ )2and check your solution. Graph the solution on a
number line.

Solve the inequality>o+ 2 (8- ) &nd check your solution. Graph the solution on a



Solve the compound inequality. Then graph the soiutn a number line.

31. x+3<-3o0rx>7

[A] x<—-60rx=7 [B] —6<x<7
G- @it )-——— >
-1C -5 0 5 10 -1C -5 0 5 10

[C] x<—-60rx>7 [D] —6<x=<7
it @ O GO miijjeiejieie)-——— >
-1C -5 0 5 10 -1C -5 0 5 10

32. x+2>-2 andx<3

[A] x<—-4o0rx=3 [B] x<—4o0rx>3
O s L L e
-1C -5 0 5 10 -1C -5 0 5 10
[C] —4<x<3 [D] —4=<x<3
O st - @mimpimie A+
-1C -5 0 5 10 -1C -5 0 5 10

33. Xx+4<-2 orx=6

[A] x<—60rx=6 [B] —6<x<6
O Y o @ imieimmjejesjenfejen} >
-1C -5 0 5 10 -1C -5 0 5 10
[C] —6<x<6 [D] x<—-60rx>6
< fejeniejenfenfeienie)-—— —— > ttete@ O
-1C -5 0 5 10 -1C -5 0 5 10

34. x+1>-1andx<4

[A] x<—2o0rx=4 [B] —2<x<4
O e @ttt O+
-1C -5 0 5 10 -1C -5 0 5 10
[C] x<-20rx>4 [D] —2<x<4
S SRS O i@
-1C -5 0 5 10 -1C -5 0 5 10
35. x+3>—-4 andx<5
[A] —7<x<5 [B] —7<x<5
GO i@ G @rimimimpijeienpeie >
-1C -5 0 5 10 -1C -5 0 5 10
[C] x<=70rx>5 [D] x<—=7o0rx=5

-1C -5 0 5 10 -1C -5 0 5 10



Solve the compound inequality. Then graph the goiutn a number line.

36.

37.

38.

39.

40.

X—4< -9 orx=4

[A] x<-50rx>4

-1C -5 0 10
[C] —-5<x<4
G @il >
-1C -5 0 10
X=22-7 andx<3
[A] -5=<x<3
G et A1
-1C -5 0 1C
[C] x<-50rx=>3
<-|-|-|-|-|-©-|—|—|+|—|—|-.-|-|-|-|-|-|-|->
-1C -5 0 1C

X—=1<-7 or x>5

[A] —6<x<5
G- @t +————+
-1C -5 0 10
[C] x<—-60rx>5
<-|-|-|-|-.-|—|—|—|+|—|—|—|—|-©-|-|-|-|-|->
-1C -5 0 10
X—4<—-7 orx>7
[A] —3<x<7
G i) >
-1C -5 0 10
[C] —3<x<7
G- @eiiiippieienie >
-1C -5 0 10
X+322 andx<6
[A] x<—-l1lorx=6
<-|-|-|-|-|-|-|-|-|-©-|—|—|—|—|—|-.-|-|-|-|->
-1C -5 0 10
[C] —1<x<6
G Qi P>
-1C -5 0 10

[B] x<-5o0rx=4

<-|-|-|-|-|-©-|—|—|—|—|—|—|—|-.-|-|-|-|-|-|->
-1C -5 0 10
[D] -5<x<4
O imiiiipiie@)-—— >
-1C -5 0 10
[B] x<-50rx>3
dmtttente@ O
-1C -5 0 1C
[D] -5<x<3
G e —— 1>
-1C -5 0 1C
[B] x<—-60rx=5
<-|-|-|-|-©-|—|—|—|+|—|—|—|—|-.-|-|-|-|-|->
-1C -5 0 1C
[D] —-6<x<5
<+ iijjejejejeie) >
-1C -5 0 10
[B] x<-=3o0rx=7
dmitmtmtmtente O+ @i
-1C -5 0 1C
[D] x<-3o0rx>7
iimiminite@ -+
-1C -5 0 1C
[B] x<-1orx>6
<-|-|-|-|-|-|-|-|-|-.-|—|—|—|—|—|-<>|-|-|-|->
-1C -5 0 1C
[D] —1<x<6
G st
-1C -5 0 10




Solve the compound inequality. Then graph the goiutn a number line.

41. 3x—-2>-20and X+ 5<7
[A] xis any real number.

>

"9-8-76-5-4-3-2-10 12 3 4
[B] O

+—F—+—+—+—+—+—+—+
9-8-7-6-5-4-3-2-10

N
w 4+
I 4

[C] —6<x<1

9-8-7-6-5-4-3-2-10 1

N
w 4
~Y

[D] x<—6o0rx>1

4.

9-8-76-5-4-3-2-101 2 3 4

42, X+ 4>-1or k- X 29
[A] —1<x<8

O ee——————— 1>
4-3-2-1012 34567 8 91011

[B] xis any real number.

4321012345678 91011
[C] O

H—+———t———t————t————p
-4-3-2-1012 34567 891011

[D] x<—1orx>8

4-3-2.1012345678 91011



Solve the compound inequality. Then graph the goiutn a number line.

43. 4x-1>-13or ¥+ X 20
[A] x<-3o0rx>5

6-5-4-3-2-101 2345678

[B] xis any real number.

6-5-4-3-2-10 123456 7 8

[C] O

—tttt—t —tt—tttttPp
-6-5-4-3-2-1012 3 45678
[D] —3<x<5

6-5-4-3-2-1012 34567 8

44. X+ 2>—8and X- 1< 4
[A] xis any real number.

'8-7-6-5-4-3-2-10 1 2 3
[B] -5<x<1
<

8-7-6-5-4-3-2-101 2 3 4
[C] O
<

-8-7-6-5-4-3-2-101 2 3 4

[D] x<-50rx>1

'8-7-6-5-4-3-2-10 1 2 3



Solve the compound inequality. Then graph the goiutn a number line.

45. X+ 4>-5and X- 6<2
[A] x<-3orx>4

o —+——+—+— e

-6-5-4-3-2-1012 3 4567
[B] O

—————————————+p

-6-5-4-3-2-1012 3 4567
[C] —3<x<4

6-5-4-3-2-1012 3456 7
[D] xis any real number.

4.

-6-5-4-3-2-1012 3 456

46. 5X—2>—-270or 4- k 15
[A] O

+“H+—————
—-8-7-6-5-4-3-2-101 23 4567

[B] xis any real number.

T876-54-3-2-101234567

[C] x<-5o0rx>4

~8-7-6-5-4-3-2-10123456 7

[D] —5<x<4

O —t—t————————- >
-8-7-6-5-4-3-2-1012345¢67



Solve the compound inequality. Then graph the goiutn a number line.

47. X+ 4>—1lor X—- 6< 18
[A] xis any real number.

4321012345678 091011
[B] —1<x<8

GO me———————— -]
-4-3-2-10123 456738 91011

[C] x<-1o0orx>8

4-3-2.1012345678 91011

[O] O

-4-3-2-1012 34567 8 91011

48. 4x+5>—-19and X- 4<0
[A] x<—60rx>2

- —————t—1 e
-9-8-76-54-3-2-1012 3 45

[B] —6<x<2
<+ ——+p

9-8-7-6-5-4-3-2-10 1 2 3 4 5

[C] xis any real number.

9-8-7-6-5-4-3-2-10 12 3 45

D] O

9-8-76-54-32-1012 345



Solve the compound inequality. Then graph the goiutn a number line.

49. 4x+ 3> 7and X~ 2<16
[Al O

+—F——t+++—t+—t—t+—t+—t+—+—+—+—+Pp
-2-1012 3456 7 8 9101112

[B] xis any real number.

—p

012345067 801W01012

[C] 1<x<9

21012345678 9101112
[D] x<lorx>9

i ——+—— >

—2—10123456789101112

50. X+5>—-100or ¥- 4 14
[A] —3<x<6

H— O ———1->
-6-54-3-2-101234567829

[B] x<—3o0orx>6

6-5-4-3-2-10123456789

[C] xis any real number.

6-5-4-32-10123456789

D] O

———————————————
-6-54-3-2-101234567829
51. 4x-6>-18or ¥- X 13

52. 4x—2>—22and Xx—- X 12



Solve the compound inequality. Then graph the goiutn a number line.

53. - 6> 2and X+ X 53

54. X-3>-60r k- & 20

55. &+ 2> 7and X+ X 35

56. 4x+ 6> 10or x- X 16

57. X+ 2>-13and - k 9

58. XX—-5 - 250r &+ X 23

59. X+ 5 2or X- &K 6

60. X+ 3>-5and &- & 0

61l. x-1=>-7 andx<7

62. x—-2>-4 andx<3

63. x—-3<lorx>6

64. x—-2<-2 orx=5

65. x-1>-4 andx<4

66. x+3<-1orx=5

67. X+4>-1 andx<6



Solve the compound inequality. Then graph the goiutn a number line.

68. x—4<-3o0orx>3

69. x-2<-5o0rx=7

70. x-3>-9 andx<4



